DINAMIK DERSI
UYGULAMA COZUMLERI -3

x =15m/sn sabit oldugundan, ¥ =0 ve
ivmenin dikey bileseni yoktur.

c0s30° =X = y=
% cos30

;= v=L1732m/sn

2 2

) ) = a, =12,5m/sn’
r 0,24

tan30° =2 = ¢ =a .tan30° = a, =12,5.tan30° = a, = 7,217 m/sn’
a

n

a, =r. =7,217=(024). = =30rad/sn’

Coziim - 2:
Ap = T/2radyan a, =r. =>a,=r.a
WA:V—A:ﬂ:wA:O,I?;?)rad/Sn WB:V_B:ﬁ:wB:O,16rad/sn
r 300 300
w2 — w2
a="t—t=a= 2,52x107 rad/sn®>  a, =300.(2,52x107°) = a, = 0,76 m/sn’
° AB

2

v
__B _ 2 _ 2 2 _ 2
a,=—"=a, =7,68m/sn" ay .. =+a, +a, = ay,,, =7,72m/sn

r
Coziim - 3:
':d—:> =) f:E:—d(a'cos ).d—z-ab.sin
dt dt d dt
:d—:@:o f:E:—d(_ab'sm ).d—:> -ab’.cos
dt  dt dt d dt

=ji-r.? =a, =—ab? cos -a.cosOb’ =a, =-2ab? cos
a =2 +r. =>a =2(—absin®)b+0=a =-2ab’sin

a=la* +a’® :>a=2\/5ab2
r



